
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

6, 534 × 100 = ________ 9, 11 × 10 = ________

7, 423 × 1000 = ________ 3, 748 × 100000 = ________

10, 909 × 1000000 = ________ 2, 669 × 1000 = ________

10, 244 × 1000 = ________ 6, 368 × 100 = ________

7, 099 × 10000 = ________ 1, 735 × 100000 = ________

9, 942 × 10 = ________ 10, 196 × 1000000 = ________

4, 781 × 1000000 = ________ 2, 698 × 1000000 = ________

8, 638 × 100000 = ________ 4, 202 × 100 = ________

5, 49 × 1000 = ________ 3, 651 × 100 = ________

5, 048 × 1000 = ________ 6, 024 × 1000 = ________
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6, 534 × 100 = 653.4 9, 11 × 10 = 91.1

7, 423 × 1000 = 7423 3, 748 × 100000 = 374800

10, 909 × 1000000 = 10909000 2, 669 × 1000 = 2669

10, 244 × 1000 = 10244 6, 368 × 100 = 636.8

7, 099 × 10000 = 70990 1, 735 × 100000 = 173500

9, 942 × 10 = 99.42 10, 196 × 1000000 = 10196000

4, 781 × 1000000 = 4781000 2, 698 × 1000000 = 2698000

8, 638 × 100000 = 863800 4, 202 × 100 = 420.2

5, 49 × 1000 = 5490 3, 651 × 100 = 365.1

5, 048 × 1000 = 5048 6, 024 × 1000 = 6024
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